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Note: All questions have the same weight (40 questions, 2.5 points each).

IMPORTANT NOTES

Fill-in your information on the answer sheet.

Mark your answers on the answer sheet.

The answer sheet is the only one that will be graded.

Do NOT start the exam until you are instructed to do so.

This is a closed material exam. So, remove any relevant material.
Calculators are NOT allowed. If you have one, put it on the floor.
Mobile phones are NOT allowed. If you have one, switch it off NOW.
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Which of the following is not areserved word in c:
i, int ii. €ese ii. X

iv. sort v. printf
iii, iv, v
i
v,V
i, ii
What will be shown on the screen as aresult of executing the following statements?
int x = 3;
i f(x/2*2 == x)

printf(“A”);
el se if(x/2*2 == 2/ 2*x)

printf(“B”);
el se if(2/2*x == x)

printf(““C”);
el se

printf(““D”);

(@ ve B

Which one of the following C variable namesis not valid?
_kfupm

kf!lupm

K2f pm

All of the above are correct

What is the answer of the following expression?
2<3|] a==Db&&'!c *3 <4

1

0

I can’t answer it until I know the values of a, b, c
None of the above
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What will be shown on the screen as a result of executing the following statements?

doubl e grd = 98;

if(grd > 80)
printf(“Excellent”);
printf(*\ n””);

if(grd > 50)
printf(“Good”);

el se
printf(“Fail™);
printf(“***"");

Excel | ent
Excel | ent ***
Excel | ent Good
Excel | ent
Good* **

Which of the following is the correct order of evaluation for the C operatorsin the
expression shown below?

2>3 || a==b & c *3 < 4

Which of the following is the correct order of evaluation for the C operatorsin the
expression shown below?

al b* (c+-d %e

[, * % -, +
-, +,% /’ *

None of the above
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8. What will be shown on the screen as aresult of executing the following statements?

double x = 3.5;
switch (x){
case 2.5 printf("2");
br eak;
case 3.5 printf("3");
x=20;
case 4.5 printf("4");
br eak;
x=30;
default: printf("5"); x=40;}
printf("x=%.2f", Xx);

A. 34x=20.00

B. 34x=30.00

C. 3x=40.00

D. Syntax error

9. Given thefollowing declarations:
double a = 4.3265 ; int b = 72;
Which print statement produces the following output? (A square represents one space)

4 . 3|3 7| 2

A printf("%.2f%d", a, b);

B. printf("%l. 2f%id", a, b);

C printf("9%.2f%ld", a, b);

D. printf("%.2f%d", a, b);

10. What will be shown on the screen as a result of executing the following statements?

int fail = 0;
if (!fail || fail)
printf("D");
if (!fail )
printf("C");
el se
printf("B");
printf("A");

A. DCA

B. DBA

C. BA

D. CBA
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11. Consider the following logical expression:
A|l|] C+D&'E
Which of the following is equivalent to the above logical expression?

A ((A||l (C+ D) & !E)
B. (A]| O + (D&&'E)

C. (A|| ((C+ D & !'E))
D. ((A[l (C+D) |l B

12. Which of the following C expressions is equivalent to the following mathematical
expression:

ab +c
de

a*b+c/ d*e

(a*b+c)/ d/ e
. (a*b+c)/ d*e
. (a*b+c/ (d*e))

O 0w >

13. What will be shown on the screen as a result of executing the following statements?

int A=0, B=1;
if (A
printf("A");
if (B)
printf("B");
if ( A=B)
printf("A=B");
el se
printf("Al =B");

ABA! =B
ABA=B
BA!I =B
BA=B

O 0 w>»
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14. What will be shown on the screen as aresult of executing the following statements?
int a =10, b = 5;
if (a == Db)
b += 5;
a = a + 5;
printf("% %", a, b);
10 5
10 10
15 5

15 10

OO0 w>»

15. What will be shown on the screen as a result of executing the following statements?
int i,j, cout = 0, cin=0;
for(j=10; j>5; j--) {
cout ++;
for(i=1; i<=10; i++)
Ci n++;

}
printf("% %", cout, cin);

10
50
15
60

0w >
o o g o

16. Totestif agiven variable ch of type char contains aletter (lower case or capital), we
use the condition:

A ch >="a" & ch <='7z" && ch >="A && ch <="'Z
B. 'a <=ch<="'"2" & 'A" <= ch <="'Z
C ch>"a & ch<="z" || ch>"A & ch<="'2Z
D."a" <=ch<="'2" || '"A <=ch<="'27Z

17. What isthe value of the following C expression?

1/2<1<3/2

1
0
Undef i ned

Error: Invalid C |ogical expression

OO0 w>»
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18. What isthe output of the following C program fragment?

int m=4, n = 3;
int k =m- + +4+n;
printf ("% %l %", m n, Kk);
A 3 4 8
B. 3 4 7
C 4 3 7
D3 3 6

19. Select the correct answer which will enable the code below to print the even numbers
from 2to 20 inclusive (i.e, 2, 4, 6, ... 20):

int k;
for( )
printf("% ",2 * k);

A k =2 k <=20; k += 2
B. k =1; k <= 20; k + 2
C k=1, k<=10; k +1
D. k = 1; k <= 10; k++

20. Consider the following C program fragment:
printf(“%d””, SPEED);
Which statement defines the constant SPEED with a value of 120?

int SPEED = 120;
#defi ne SPEED = 120;
#define SPEED 120
SPEED = 120

O 0w >
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21. Consider the following C program fragment:

22

O 0 w>»

OO0 w>

int Xx;

scanf(“%d”, &x);

do{
printf(“%d”, x );
X++:

twhile(x < 10);

Which of the following is equivalent to the above C program fragment?

Which for-loop parameters will cause the above code fragment to output:

38 27 18 11 6
=6; k>0, k=k -1
6; k >>0; k = k-2
6; k >=0; k -=1

38; k >= 2; k = k-11

k
k
k
k

3 2

A. int x; B. int x;
scanf(“%d”, &x); scanf(“%d”, &x);
printf(““%d”, x); while(x < 10){
X++: printf(“%d”, x);
whil e(x < 10){ X++;
printf(“%d”, x); }
X++; }
C. int x; D. int x;
scanf(“%d”, &x); for(scanf(“*“%d™”,&x) ;x<10; x++)
X++: printf(" % ", Xx);
whil e(x < 10){
printf(“%d”, x);
X++; }
What is the output of the following C statement?
printf("%d %", 5/ 2, 3 %5);
2.5 5
2.5 3
2 0
2 3
. Consider the following C code fragment:
int k;
for( )
printf("% ", k*k + 2);
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24. What is the output of the following C program fragment?

O 0w >

int k = 4;

do{

k += 3;
printf ("%

kK++;
twhile(k <= 12);
printf ("%

N N NN

11
11
11
11

13
15
12
16

k) ;

14
16

k) ;

25. What is the correct condition that will make the code below print the value of the

O 0w >

variable m only if it is an even number?

i f

(

printf("% ", m;

m/ 2.0!'=m/ 2

m% 2 ==

m/ 2* 2!=m
. (int)

m* m%4 == 0

26. What will be shown on the screen as aresult of executing the following statements?

O o0 w>»

int k, m sum= O;

for(k

sum = sum + m

printf(“%d”, sum);

10
20
30
60

0; k <= 4; k++)
for(m=3, m>0;, m-)
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27. What will be shown on the screen as aresult of executing the following statements?

int v = 30, k = 4;

doubl e newal, nodifier = 1.0;
newal = v + nodifier * v/k;
printf("%2f", newal);

37

37.00

37.50

38. 00

O 0w >

28. What isthe proper code that checksif afile assigned to afile pointer infile was opened
correctly?

A i f (NULL)
printf("File not found");

B. if (infile = NULL)
printf("File not found");

C if (infile == ECF)
printf("File not found");

D. if (infile == NULL)
printf("File not found");

29. What will be shown on the screen as a result of executing the following statements?
int i = 10;
while(++i < 12)
printf("% ", i);
10 11
11 12
11
12

O o0 w>»
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The next 3 questions (30, 31and 32) are based on the following code fragment:

#1 ncl ude <stdi o. h>
int main()
{ ~char x;
FILE *infile;
Bl ank1
whi | e( Bl ank?2 )
{ printf("% ",x); }
Bl ank3
return O;

The program above is supposed to read a set of characters stored in atext file named
"mydata.txt" and print them to the screen.

30. The proper statement replacing Bl ank1 is:

A. fopen(nydata.txt, "r");

B. infile = fopen("nydata.txt");
C. infile = fopen("nydata.txt", "r");
D. infile = openfile("nydata.txt","r");

31. The proper statement replacing Bl ank?2 is:

fscanf ("%", &) !'= ECF
scanf(infile, "%", &) != EOF
fscanf(infile, "%", &) != NULL
fscanf (infile, "%", &) != EOF

O 0 w>»

32. The proper statement replacing Bl ank3 is:
A fileclose("nmydata.txt");

B. fclose("nydata.txt");

C. fileclose(infile);

D. fclose(infile);
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33. What will be shown on the screen as a result of executing the following statements?

int i,j,Kk;
for(i=7; i > 4; i--)
printf("o%d ", i);

for(j=1; j <i; j+=2)

printf("% ", j);
printf("\n");

A 76513 7135 7651 71356135513

6135 3
51

w w w

34. Inthe C code fragment below, how many timesis the string "Hello There" printed?
int Xx;
for(x = 1; x <= 15; x++){
if(x %15 == 0)
br eak;
elseif ( x <10)
conti nue;
el se

}

4 tines

printf("Hello There\n");

0 tines
5 tines

OO0 w>

9 tines

35. What will be shown on the screen as aresult of executing the following statements
(assume a single space is represented by asingle #)?

int x = 1000; double y = 2.0;
printf("98.2f%0.2f\n", x+y, y-X);
#1000. O0+#####2. 0#1000. 00- #####2. 0
#1002. 00###- 998. 00

###1002. O0#####- 998. 00

1002. 00, - 998. 00

O 0w >

36. What isthe result of the following function call?
sqrt(4);

2.0
16.0
16

o0 w>
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37. What will be shown on the screen as aresult of executing the following statements?

int i =10, sum= 0;
while(i > 0){
sum += i ;
i -= 2
}
printf("i=%, sum=%\n",i,sum;

A 0,30

B. i =10, sun¥20

C. i = 10, sum =30;
D. i =0, sun¥30

38. What will be shown on the screen as aresult of executing the following statements?

doubl e m
m=14* 14/ 4 || 2.0;
printf ("% 2f\n",nm;

0. 00

1.00

2.00

5. 00

O 0w >

39. What will be shown on the screen as aresult of executing the following statements?

int k 3, m= 4,count = 0;
for(k 0; k == 4; k+=2)
for(m=5, m>0; mm2)
count +=1;
printf("k =%, m= %l\n", k, m;

A k=3 m=4
B. k =0, m=

C k=6, m=1
D k=0, m=-1
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40. Given the block of code below

swi t ch(day_no)

{
case 6: printf("Special day\n");
case 7: printf("Vacation day\n");
br eak;
default: printf("Normal working day\n");
}

Which of the following if-statements represents a correct conversion of the code above?

B. if (day_no==6) {
printf("Special day\n");
printf("Vacation day\n");

A. if (day_no==6 || day_no==7) {
printf("Special day\n");
printf("Vacation day\n");

} }
else if (day_no==7)
printf("Vacation day\n");

else

printf("Normal working day\n");

else
printf("Normal working day\n");

D. if (day_no=6 || day_no =7){
printf("Special day\n");
printf("Vacation day\n");

C. if (day_no==6)
printf("Special day\n");
else if (day_no==7)

printf("Vacation day\n"); }
else else

printf("Normal working day\n"); printf("Normal working day\n");



